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4.

A

In python -

an operator i1s supplied with a value of

incorrect data type,

(A) TypeError (B) NameError
(C) ValueError (D) SyntaxError
(E] Not attempted

Gram, Centimeter and Second are

measuring units in

(A)] MKS

(B) FPS

(C) CGS

(D) None of these e 4
(E) Not attempted ey

The ampere-hour efficiency of a lead
acid cell is normally between

(A) 20-25%

(B) 40-50%

(C) 60-65%

(D) 90-95%

(E) Not attempted

Magnetization current in a
transformer produces in
transformer core.

(A) Eddy current

(B) Flux

(C] Power

(D) None of these

(E) Not attempted

X
Dry ether
(- a2ty

+ 2NaX
This reaction is reaction.
(A) Wl-u'tzuFittig (B) Fittig
© Wurt, (D) Kolbe’s
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(A) 20-25%
(B) 40-50%

+4Q) 60-65%

(D) 90-95%
(E)
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10.

law, the
sxccording ¥ ——=—"" 7 -
Act # ing throus .

| to the rotal

(A) Coulomb’s
(B) Gauss

(C) Fleming's
(D) Kirchoff's

(E) Not attempted
According 1o Ohm'’s law, current
flowing in & circuit is inversely
proportional to

(A) Voltage

(C) Resistance

(E) Not attempted

(B) Power
(D) All of the abaove

Machine generating a.c. e.m.f. are
called as

(A) Alternators
(C) Modulators
(E) Not attempted

(B) Transformers
(D) None of these

Which of the following is not a
multi-user /multitasking operating
system ?

(A) UNIX

(B) Virtual Machines (VMS)
(C) Mainframe

(D) MS-DOS

(E] Not attempted

The type of earthing suitable for
sandy areas is

(A) Horizontal strip earthing
(B) Rod earthing

(C) Plate earthing

(D) Pipe earthing

(E) Not attempted
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(A) Feld =
(B) | FH

7. g 3 fm F aeEn, fedt Tl |
et T SRR B #

(A) Freds (B) 1
_e) st (D) I9EF TR
() Zsamad
8. t{.;ﬁi.un.tz%-amasﬁaﬁﬂmﬂqm‘[
91 %l A1 R 7
(A) FeeeH AB) TG
sﬂ“m (C) ATSgeIeH (D) ¥ & HIg &
e (E) St
9. ﬁ?ﬁﬂﬂﬂ-mqﬁﬁ_@ym
Frafen R & @ 7

(A) g

(B) 9@ ufdry (uwam)
()

JP) wE-gth

(E) 3rrnfe
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11.

12.

13.

14.

15.

A

Which of the following is not & traffic
sign ?

(A Mandatory / regulatory Signs

(B) Cautionary signs

(C) Movement signs

(D} Information s1gns

(E) Not attempted

Which city is known as Queen of the
Arabian Sea ?

(A} Diu

(B) Kochi

(C) Mumbai

(D) None of the above
(E) Not attempted

A 6 pole induction motor is supplied
by a 10 pole alternalor which is
driven at 600 rpm. I the motor is
running at 970 rpm, determine the
percentage shp.

(A) 1% (B) 2%
(C) 3% (D) 5%

(E}) Not attempted

With amountofcurrent(l), resistance(R)
and time of current flow(T), formula
for converting clectrical energy to heal
energy|H| is

(A) H=IRT

(C) H=1R

(E) Not attempted

(B) H=IRT
(D} H=V/R

The practical voltage source has emf
of E volts and internal resistance is
r ohms. If it supplies a load current of
Famperes, the terminal voltage is

W E (1) E/r

C
iE] Ir D) E-1Ir
(E) Noy attempted

CG - AE23

frfafEd o FH -1 ATEE g
IR B 7
(A) fqard  fams =R
(B) FEYA F44 a1 o
=% s -fafa & ==

(D) F=1 T2
(E) FATHA
12. fw&mﬁrﬁmmﬂ?ﬁrﬁ?ﬁmﬁ
S AT R 7
(A) @fd
) Fifed
©) 798 ol
(D) I9dEE | | HIE A ORI
(E) A
13, ﬁﬁ&lﬁgfgamdmﬁﬂﬁﬂmﬁﬁ
SeeTazt B & AEl 2 A 600 rpm W
Hafed &1 # | afe 5 970 rpm W FA
@ 2, A1 afaeA feem fauifa T
(A) 1% (B] 2%
N 3% D) 5%
J{ﬁwam =

14. Tagm um i wen (1), sfaae (®)
YT WaITR 3 E (1) 3 |1 A 5 1 55
FA1 (H) ° 9itafdd F4 F A R
(A) H = IRT

H = PRT
(C) H=IR D) H=V/R
(E) 31mfEa
15. AERSF aes7 |4 0 E diee &1 eml

2 3 Al ufqoy rowm 2 afe 7@
| vefen 1 e am H st w2, @
e dees R 7

A) E

(©) 1 R
r ) E-1Ir
(E) sarige 0
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16.

17.

18.

19.

Which of the following type of
instruments are non-directional
and can be used for measuring hoth
AC and DC values of current and
voltage ?

(A) Moving iron type

(B) Moving coil type

(C) Dynamometer type

(D) Induction type

(E) Not attempted

The members of rhodophyceae are
commonly called

(A) Red algae

(C) Blue algae
(E) Not attempted

(B) Green algae
(D) Brown algae

The top and bottom horizontal
portion of the transformer core is
(A) Yoke (B) Limb

(C) Winding (D) Conservator
(E) Not attempted

In delta connected system, the relation
between the line current I, and phase
current L, is

(A) 1, =14

(© I, = V3l

(E) Not attempted

(B) I, =1,/V3
D) 1, =31,

The average value of sine wave is
times the peak value.
(A) 1.414
(B) 0.637
(C) 0.5
(D) 1.732

. B

16.

17.

18.

19.

CG - AE23

froferfigd § 8 FA-T1 THR FH ITR
e frarens 2 3N g ITEM wE N
Fiers % AC 3R DC @1 wrEl T
% fou o 0 HaEAT R 7

(a) nferefier e TR

(C) SHEHETHIE THR

(D) T TN

(E)

EEEd & gos T ——
Fgad ¢ |

o T @ (B) B A

() et far= (D) ¥ faT

(E)

mﬁ?ﬂﬁtm:ﬁqﬂ 3w foreen AAfdS
w2

(A) TH B) fem=

(€) amfEn (D) FHA

(E) sTwaEa

Yoo FTE feen # T e 1 3
ﬁmmizlph%:ﬁlaﬁéﬂ@mi

(A 1, =1, B 1, =1,/3
© 1 =3, D)1, =3i,
(E) 3Awanfea

T3 T H1 30Ea 9= T 0= F

TR |

(A) 1.414

(B) 0.637
AC) 0.5 &

(D) 1.732 e

(E) swamfam
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21.

Capacitance 1S a ratio o
(A] Voltage to voltage
f,.H] Volrage to chargt
(C) Charge to voltage
(D) Charge to charge

(E] Not attempted
22, The term “Erosvstem’” Wis first

coined by
(Al Sir Arthur G. Tansley

{B) Salim Al

(C) James Hansen
(D) Rachel Carson
(E] Not attempted

23. __is used to measure the

width of wires.
(A) Try square
(B] Mallet

(C) Wire gauge

EaE

The shunt resistance in an ammeter
is usually

(A) less than meter resistance

(B] equal to meter resistance

[Cl more than meter resistance

(D) of any value

(E) Not attempted

{D] None of these
[E) Not attempted

24.

25. The reciprocal of impedance of a
circuit is called
(A} Resistance (B] Inductance

(C) Capacitance (D) Admittance

21. STHAT F oA 2

(A) FFEA & aleed 3
$13) arees A Ard @
KH'J ATd &1 4rF2 H
(D) =TH &1 ard H

(E) syaTiEA
22, “‘zEifren’ vz mad vr fEEF I
T T Al 7

(A) BT HTe . TEA

%;%] (B) HeA™® 3
RO (o) S EEA
D) T=H &4
(E) S9=naa
B =7 IqATT AT 1 ATSE HIGA
feru feren 5 B
(A) T8 TR
(B) @21 F1 weitgl (Bere)
<{C) A1 TH
(D) =0 F ¢ 481
(E) 3rgarfad

—~4a) e ufrmy @ #y
(B) Iﬁaﬂﬁﬂﬂ%m
() Hrer e & siferes
(D) mﬁ‘-ﬁq\alq;]

(E) 3srnfaa

HEATAT B
(A) ufeary
(C) tfea

23.

25.

(B) Wahd
D) W&

(E) Not attempted

(E) 3rwnfaq
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26.

27.

28.

29.

30.

The seeds of the Internet were

plunlc‘d in
(A] 1891 (B) 1991
(C) 1969 (D) 1990

(E) Not attempted

The resistance of a lamp is 10 ohms
and current through it is 2A. Its

]']l.]'i'n"l.‘l ls
(A 10W (B) 20 W
(C) 30W (D) 40 W

(E] Not attempted

A transformer operates al maximum
efficiency when

(A) Core losses is minimum

(B} Iron losses 1s minimum

(C) Copper losses is minimum

(D} Copper loss = Iron loss

(E) Not attempted

The percentage errors in the
measurement of mass and speed
are 2% and 3% respectively. How
much will be the maximum error in
the estimation of the kinetic energy
obtained by measuring mass and
speed ?

(A) 11% (B) 8%

(C) 5% (D) 1%

(E) Not attempted

When two similarly charged particles
are brought near, they try to repel each
other while dissimilar charges attract
each other. This ability of a charged

particle to do the work is called
(A) Coulomb

(B) Electrical power

(C) Electric potential

(D) Electrical resistance

(E) Not attempted

26’. -gml 4 r “-ﬂ‘. m - o h CTHLE] I Y |
(A) 1891 (B) 1991
e) 1969 (D) 1990
(E) quaiEd
97. U& 1 &l farra 10 A7 2 3N ThE
v § 4T 2A R | 3HH 9ifda 2
(A) 10W (B] 20 W
(C) 30 W P) 40 W
(E) SoETHA
28. e grEGNR RiuwTH A T = wH
FM R 7™

29. ﬁﬂﬂﬁﬁ%mﬁﬂﬁﬂﬁaﬁ‘m:
Eﬂfuaﬂ'(aefuﬁlamﬂaﬂ‘{ﬂﬁfﬂw
% g WTE TR S & A 7 AR

Ffe feperedt wrft 7
(A) 11% (B] 8%

_AC) 5% (D) 1% _
(E) st E i

30. V@ T HUH AR F 1 wE
A B, A 3 UH-gEl &I ufawia wE @
F1 ST Fd & | ForRt At @
(A) TeTe
B) fregfta wfe
(C) fere mvT=aTy
(D) gt sy
(E) 375rafea
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31.

(1% i .
58" is a system used 1n

(A) Production practices
IB) Safety practices

- g -l':i

tC] HHIIS{‘,krEpi“E Prn{_ f1cc
- "
(D) Electrical munnfmmﬁ b

(E) Not attempted
ryana

a
Under this Mughal ruler, H

came under the contr
(A) Mohammad Shah B

Ei%é =
(B) Shah Alam

(C) Ahmed Shah
(D) Bahadur Shah Jaffer

4]

(E) Not attempted

Which type of wire joint is found in
the junction box ?

(A Rattail joint

(B) Plain tap joint

(C) Aerial tap joint

(D) None of these

(E) Not attempted

The average Power delivered tq an

impedance (4 - 13)Q by a curr
308 (100m + 100) A is .

| of Britishers

31, «gg» GTeft poin
AAT 2 |
(A) 3773w i
—{B) Jlam weqpsy g
(C) TR-=Fen & gupyii 5
(D) faea fafado i
(E) 319a1fga

— ﬁ T"-“":-i'l

32. 30 UTE wms & N _
Wﬁ%%ﬁﬁﬁmm' Ao
(A) AiEwmre g
(B) ¥M& 37eg
(C) 3189 Wiy
AD) TR 91T T
(E) 379afq

33. ﬁﬂﬂﬁmﬁﬁ.—qmwmmm
ELCIE-
(B) = ¥u Figz
(C) tfa 3y sz
(D) ¥ & B 7
(E) 3rsafiya

34. fd 5 cos (100t + 100) A g e

(4-33) Q= & T 3em wf 2
)"44,2“’

(B) S50 W
(C) 62.5W
(D) 125 W

(E) 3rSRmfad
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35.

37.

38.

39.

In DC generalors, the effect of the

magnetic ficld set up by the armature

current on the distribution ol the Hux
under main poles is known as

(A) Armature resistance

(B) Armature cllect

(C) Armature reac on

(D) None of these

(E) Not attempted

The end from which elements are
added or deleted 1s called

of the stack.

(A) Top

(C) Front

(E) Not attempted

(B) Bottom
(D) Rear

Unknown frequency can be measured
using

(A) Anderson’s bridge

(B) Maxwell's bridge

(C) De Sauty’s bridge

(D) Wien's bridge

(E) Not attempted

Sign of children near road shows
possibility of _nearby.

(A) School
(B) Park
(C) Home

(D) Hospital
(E) Not attempted

Moradahbad is famous for
(A) Brass industry

(B) Sandal ml

(C) Newsprint factory
(D) Penicillin factory

(E) Not attempted

S Co,
45, & FATET u M ey
faram T AT T g N
G T F N O
(A) e A |
gp) LS

- h‘-‘ka

AT T e
4€) H () &
(E) FoTE
37 s WS SIS
w2 |

(D) fama =1 1
(E)

38, HeH & TH =41 F1 fHa FE-IE

) EyrEAT gt 2
/|A) ThE

(B) 9T

(C) ™

(D) TS

(E) 3renfag
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41.

42.

s

P e
In domestic wiring, a switch 1S e

placed in the
(A] Earth wire
(B] Neutral wire

(C) Live wire

b3
54T

(D) None of these

(E] Not attempted

6 ohm and 4 ohm resistors are
connected in parallel through 240V
supply. Total current flowing through

the circuit is

(A) 10A

(B) 100 A

iC) 24 A

(D) None of these
(E) Not attempted

Gurugram-Manesar-Bawal region of
Haryana is famous for the production of
(A) Pharmaceuticals

(B) Sugar

IC) Cotton

(D) Automobiles

(E) Not attempted

The equipment connecteq between th
conductor and Eround, tq )

discharge

the excessive voltages 1 earth
18

(A) Current transformer
(B) Voltage tranarnrmer
(C) Relay

(D) L:ighting aArrester

(E) Not attempiey

-10-

(c) fergema
() 3 @ 1 A
() Fwarted

6 3 3 4 3 SfTEH 240 V 3L
% mreem & weEi A 43 gL E | T F
mﬁﬁﬁﬁﬁmﬁiﬁﬁgﬁw*
/m} 10A

(B) 100 A

(C) 24 A

(D) ¥ & FHé T

(E) Frenfm

41.

42.
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45.

47.

In a factory, the following appliances
are in operation : 2 HP motor 3 hours
daily, 100 W lamp 12 hours daily and
1000 W heater 3 hours daily. Total
amount of energy consumed in a
month of 30 days is

(A) 134.28 kWh

(B) 36 kWh fﬁ%
(C) 90 kWh Of o5

(D) 260.28 kWh
(E) Not attempted

The first battle of Tarain was fought in
(A) 1192 (B) 1191

(C) 1121 (D) 1091

(E) Not attempted

In measuring instruments, under
equilibrium condition, controlling
torque (T.) and deflecting torque (T
are

(A) T =T,

(C) T.<T,

(E) Not attempted

(B) T, > T,
(D) None of these

What is the frequency of an ac
current i = 42.42 sin 628t ?

(A) 50 Hz (B) 100 Hz

(C) 200 Hz (D) 628 Hz

(E) Not attempted

In python, each dictionary item is a
key value pair, separated through

(A) & (B) "
(C) + (D) :
(E) Not attempted

11

14,

45.

‘7 L

CG - AE23

va g 1, FEfEfEa s e

% . o Hpa wfafér 3 =2, 100 w
gfafea 12 92 3% 1000 w & ufafes

392 | 30 e & vk gdl ° @ua ) 18
ot 1 Fa T w2 7

(A) 134.28 kWh

(B) 36 kWh =g ¥
(C) 90 kWh Ay &
(D) 260.28 kWh =

(E) JrsaEa \
AUEH F1 TUH Jg H g1 T A 7

(A) 1192 _4B) 1191

(C) 1121 (D) 1091

(E) STwied

e TR IuET § dger o Rl

¥ e Prafya et (1) 3 fagfE
" (T,) A 8

(A) T.: = Td ﬁ] T.—. > Ttl
(€} T.<T; (D) 378 & F1§ T
(E) v

ac U i = 42.42 sin 628t H AFH
e 7

%) S0 Hz (B) 100 Hz
(C) 200 Hz (D) 628 Hz
(E) Jrsanfem

T |, Y% WH 15N T
e e S R, R

e o wrar @

) ; (B) "

i) D) :

(E) 3ryafag =
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49.

50.

S51.

52.

53.

The EMF induced in a conductor 1s
measured by

(A) Ohm
{C}] Volt

(B) Wartt
(D) Ampere

(E] Not attempted

___is switching device capable
of making, carrving and breaking
electric current under normal and
overload conditions.

(A) Fuse

(B) HRC fuse

(C) Lighting arrestor
D) Contactor

(E) Not attempted

Which alphabet will come in the place
of question mark ?

D,K S BL,?
(A) X

(C) Z

(E) Not attempted

(B) Y
D) W =

A

Which of the following materials is a
good semiconductor ?

(B] Mica
(D) Germanium

(A) Copper
(C) Porcelain
(E) Not attempted

The polarity of voltage drop across a

resistor is determined by

(A) The value of resistor

(B) The value of current

(C) Direction of current in resistor
(D) The polarity of source

(E) Not attempted

-12-

- gy

4 . L
9. Tt e 4 e

o

$.00. 0% faagy, 1,

i 54
ObAn) (A} B) Tz
o 1ot T (D) T
(E) sty
50.  feafgn feams mmm= e
Ahran feufrn & Aza faem um = s
&9, & A4 #0 ATEq ° @50 2 |
TA) HA
(B) T, {2 H . A
(C) WA T 4
'DI m F} ".1.;“""'1.-
(E) £ P pan| \ 3 "i}q p
o & @t
51. W7 _fqa,ﬂzninmzﬁn-ﬂygﬁ o 7
e |
b.K.S.B.L.? 3
(A) X (B) Y
IC) Z IID‘I"W
(E)
52, Foafafas § & H=-m T2 T q=
yif=TEE 2 7
(A) T (B) Fd&
() dEA-fadi o) A
(E) e
53. fedl wfaras ° aees g & I

forms zm fauffm & i 2 7
(A) SfAOYF =+ O
(B) faga um =1 o=
_e) ufrta 0 faem a4 faum
(D) #TA 1 Y
(E) 39T
" v
q'ﬂiiﬁ fﬂ..

1
\
lI:D R S B L

A7 e
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54.

55.

56.

S57.

58,

( sites of Kunal and

[he ancien
ihad distnct of

Banawall m FFateh:
Harvana are located on the banks of
river

(A) Yamuna
(C) Ghaggar
() Not attempted

(B3] Markanda
(D) Saraswati

Hvsteresis loss is a type of

O]

(A} Copper loss

i
=4

(B} Iron loss

(C) Mechanical loss
(D] Fricuon loss
(E] Not attempted

For a ‘P’ pole lap wound armature of
DC machine, the number of parallel
paths are equal to
(A) 2
C) P
(E) Not attempted

(B) 2P
(D) P/2

A _
electrical circuit.

(A) Switch (B] Fuse

(C) Potentiometer (D) Wattmeter

(E) Not attempted

_is used to make or break an

The Champaran Satyagraha was

organised against the British

(A) For increasing the salary of the
Mill workers

(B] Against the refusal of remission
of revenue

(C) For forcing farmers to grow Indigo

(D) To protest against Jallianwalabagh

Massacre

(E) Not attempted

54, EAT % FdRims fy., .
Tl & A v g
fam frga 2 T
T
'r]r-l".l:

AgATEA

Q.
ey,

¥ T

(A)
~TC)
(E)

55. fectfisfm a1f3 s W1 2
(A) AT 1 FTH
4B} I8 #1 7
(C) =itk 710
(D) = &1
(E) 3

(£ [“'i'-'“

1D Hirag,

DC " & P I 19 130 I F

56.
foru AT vt i wEE feas A
A B 7
(A) 2 (B) 2P
AC) P (D) P/2
(E) ugriad

sz i Fl e oA fom
WElﬁl’lfﬁ»‘mm%, :
(A) fas
. ~B)
T (C) Tt (D) TF=rh
EXS(E) srrnfam
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59. A type of protection which depengson | oo UF UFR ) mran <
' Fm

- nthoyy
Dl]l\.th;r, t dw. JI—C‘LII‘I‘EHI- Wi i :
’ £ magritude phase EUCIR il = oH T W e
taking any cognizance of 1ts se g oo T ¥ o )
i h“’l FAE 2 s g M oz
angle, 1s known as aie . FEATH: 3
|

) I farem i s

(B) o iy, R w1 vy
protection (C) sifesfa srafers, frga g Hisqy

(D) Directional under current (D) fevfra = Rree 1 s

protection
(E) Not attempted (E) 3wariaa

B

(A) Over current protection . )M
(B) Directional over current PISEEEe
(C) Non-directional over current

60. In a diode, flow of current is 60. 3IMIS U uW F TaTE B 2

(A) Unidirectional (A) usfesfa

(B] Bidirectional (B) fefesfta

(C) Reverse =e) fad

(D) None of these (D) 378 & %1 &
(E) weifaa

(E) Not attempted
61. fafauar s gt e W safFma

61. Diversity factor is the ratio of the sum

of individual maximum demands to the AfemmamFam &
on the power station. I R |

(A) Maximum demand ~{A) fehas am

(B] Total demand (B) F& AM

(C) Minimum demand EfrE (C) =gaH [T

(D) Individual demand Iob, o4 (D) =afEFTa 7m

[E) Not attempted (E) wanfaa

62. In Haryana, Surajkund crafts fair is | 62. &R@PN ¥ Yage FaieT gen wfq a4

held every year in the month of qE § e R |
(A) January (A) =t

(B) February ’ (B) watl

(C) March o) urd

(D) April EG

(E) Not attempted (E) 3To=mea

-14-
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03, Lolductance ig meas.-umd- i;-t-l';e unj
; n

(A] Siemens (B) Joule !

(C) Lux

(D) Lux/m
(E) Not attempted
64. Which of the following is ot a class
of permanent magnet material useqd
for electric machines ?
(A) Alnicos
(B) Ceramics
(C) Silicon
(D) Samarium cobalt
(E) Not attempted

65. In 4 point starter, the No Volt Release | gg. 4wz 2@t i 1 dee s (NvR)

(NVR) coil is connected in the Fizd fpoa ey gl & 7
' (A) Field circuit A) EFS "z
' (B) Armature circuit (B) e "fhe X
‘ (C) Across the supply line through a EyE (C) T HLETHh wfeiy = H1egq j
protective resistance @mﬂ Fmfd e & IR
(D) Both (A) and (B) ) (a) 3 (B) T
(E) Not attempted (E) T

66. Which number will come in the place | 66. W fF ¥ TH W FH-d T&N M@h 7
of question mark ? - g
ﬁ' } AT e g
dh opdn .
@l o 2]/

A) 38
T s B
B (D) 44 AE€) 40 (D) 44
&) Not attempteg () 3ranfira
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68,

69.

70.

71.

. et B TIEW |
to insert? v i

is used
rear €nd

element to the queue at the

(A) DEQUEUE (B u[l[f;l_]F,

- TUE
(C) DELETE (D) ENQUEUE

(E) Not attempted

Radiation is a hazard
(A) Physical

B) Chemical BT

(B) '-—.;;_

(C) Biological by o

(D) Mechanical
(E) Not attempted

Python allows us to join two strings
using concatenation operator plus
which is denoted by symbol

{B] il
(D) %

(A) +
(C) $
(E) Not attempted

Tree system of wiring is most suitable
for

(A) Godown wiring

(B) Industrial wiring

(C) Domestic wiring

(D) Multi-storied building
(E) Not attempted

of earth is taken as
W Infinity (g zor,
(C) One

-16-
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68.

" S ﬁ

FaT

41 ﬂ"p“}
r.”:l".'-'i._

J"'::_’,u 'F {.'I:q‘. T # g U Im
feu ] ITAm §
T

(A) DEQUEUE (3

(C) DELETE
(E) #9aiEa

(D Fwn .
| K 18] |",|'!._

(A) ifaes
~B) THEH®
() A=+
(D) AT

(E) 39arfEd

70. YA FH HRCAIE HHE FE 5w
fRufs  gm e am

(B) **

(D) %

69. S

71. amfan i A goreft e fau za
9 R 7
(A) Tirer =i arfir
(B) 3ienfires amafon
(C) =t o
D) sEafsen we
(E) srsanfém

72. Wt SRR R F oo g F
wrefEe i fra =g i fon @ 2

4l SF A4B) I
(C) ©h (D) sl & FE A
(E) 3anfea
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73.

74

In the following question two
statements and two conclusions

VT Read the conclusions and

decide which of the given conclusions

[L!E'il.ll”_"p follows

Statement : B < 0= R <N,

R>A>2T=E
Conclusion : |. E > N
1. B>T -
=] T, [8]
Al Only 1 follows I
(Al Only C E]g.clf

(Bl Only Il follows

(C) Neither I nor Il follows
(D) Both I and II follow

(E) Not attempted

A transmission line is said to be an
ideal line if

Al R=0,G=0

(B) RG=L/C

(C) With a large value of R and G
D) RG=+C/L

(E) Not attempted

An energymeter is
Instrument.

IA] Recording
(B] Indicating
(C) IntEgratjng
(D} None of these
(E] Not attempted

I.n Python _ o 1s used to

r:;r._-:ur: 4 list CONntaining 4 Sequen
'Ntegers from the given « i

Upty Stop v el e

: alue (e ;
value), with 4 di:‘r:ftludlng sto

step valye Te€nce of the given
(A) for
1C) while ':B] rg_nge[]

) Not Httcmptedm]’ Continye

=l 1 |

Loy
[=] .-+'|‘-'

74.

78.

76.

-17-

73,

f-:ﬁ-*Tf’q-fTﬂ'ﬂ PSS "o
R T SR )
Fifae = F19-7 ‘I'-"llr;,n,':ﬂd‘_:" =
WAETT FAA A g
FH:B<0=R<N,
R>A=T=E
Fresd . | E=>N
1. B>T
=4A) FEA | FTH T B
(B) F9E 11 {8 Ay 2
(C) AT 13 & 1 q5I0 *+Te 2

B 13 11 F s #

(E) 3wanfoa

2 afe

(A) R=0,G=0

(B) RG = L/C

(C) R3IN G # 52 UF & Ty
LB RG =/C/L

(E) Tvarfea

SRR qwwwmd |
AA) Twiten

(B) sfeshfn

(C) 3fenfém

(D) 9 | Y 7

(E) 3ryanfaq
RICER: 1 T, fu o
@qaﬂ%m*mﬂﬁﬁmﬁm

L (R 49 ) Sw) aw quis &

[A] fﬂl’ /‘E} range”
(C) while (D) continyue
(E) waifaa


Guest
Rectangle


.

78.

79.

is a discharge of

The - . , .
h a combinalion of

electricity throug
ionized e;ir and n*;:pm‘izt‘d conductor
material.

(A] Fuse

(B] Power arc

(C) MCB

(D} None of these

(E) Not attempted

Which of the following circuit
breakers doesn't use air or gas as one
of their medium ?

(A) Miniature circuit breaker
(B) Bulk oil circuit breaker
(C) Air blast circuit breaker

(D) SF, circuit breaker

oLdo
(E) Not attempted I;%

The Udanakootam is the
intimate group of the King in the
administration of

(A) Pandyas

(B) Cholas

(C) Kadambas
(D) Vardhanas
(E) Not attempted

i1s an electrical breakdown

of a gas that produces a prolonged
electrical discharge,

(A) Electric spark
(B) Air blast

(C) Air brake

(D) Electric arc

(E) Not attempted

78, frefefes o @ ®H-A1 6@ 35
e % &9 0 & W W #
FATR 7
~a) fafrr wfdhe 5
(B) Wewh 3T§e Hiche Heh
(C) TR s Hidhe et
(D) SF,@fhe st
(E) o

79. 3ISA%en fohush YTEASE 4 T F 7
g Bl o1 ?
(A) TS
B
(C) Fed
(D) TEH
(E) 3rsaria

80. i fagn frwz 2 A
T 7% e fades 3= A
e (A) fasteft Y Ry
By 1y
(C) T s
T;ﬁﬁaa:m
E) stuaifgq

b
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i
. - m 1TY £ nﬂtnril'lj_.".
Eﬁ force in a
' [l[]':l"l Ul
e dIr€

gl " q 1s dete rmined bY
.l“ﬂ

" Fl ming'’s right hand rule

y| rie

[+
nd rule
qeming's left ha
1_1 }- I”.‘I[
. End rule

Nl Rig oht hand thumb rule

F r\L.'I .,I'Ell.ﬂlptf'd

The shape of warning traffic sign 18
y| Circular

B/ Square

C| Rectangular

D) Triangular

E| Not attempted

a. The simplified form of
t.m_l[E ]- tan-l(:"c — Y] is equal to
x

'J(+}'

b 8

Al O (B) E
Q) % D)

E| Not attempted

4. The device that converts optical
energy into electrical energy is

'A) LED (B) Photo detector
IC} Solar cell (D) PIN diode
E) Not attempted

—— 15 a joint formed by joining two
Pieces of metal edge to edge.

Al Lap joing

1B} Butt joing

€} Tee joing

(D) Corner joing

%,
opio

81. qizfm e o a5 - |
fauifra 211 2 7 T
(A) T FD Efea
W{Bj FATH T AW By
C) #4 fFEm
[Dj I 719 & W3 & faag
(E)

82. wamE itk (9= 1 s #0 am; 2

“ i.-']‘:_n_]
L {'-Fm

83,
y
w2
i
~1A) O B) 3
© 5 D) =
(E) Jrwariéa
84. T ITHW A HfHA Fall Hi faga FA
1 ftafda « &
(A) TSl (B) BIa) fewer
J€) | = (D) fi= =rite
(E) s

85. W % 2 3FSI H fFR & B 7w
SSF 1 A5 R

) T g

(B) &2 w13

(€) & s

(D) i wrg

(E) 39aifeg
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86.

87.

wing 18 the ideal
= u.v.:-i] for

.-p,u.mm

Which of the follo

value of earthing

power gtation
(B) 0.5
(D) 10 ohm

large s?

(A) 1 phm

ohm

(C) 5 ohm
(E) Not at[t-mptccl

Among five ch acteristics of big data,
represents the rate at
under consideration
ed and stored.
B) Velocity
(D) Veracity

-har

(E) Not at-temptcd

Fuse is always connected in ———

to the circuit.

(A) Parallel

(B) Neutral

(C) Series

(D) No such specification
(E) Not attempted

of an equilateral triangle are

'_i‘he sides
increasing at the rate of 4 cm/sec. The

rate at which i : -
when me:'lzl; i:uml::: f e
(A) 103 cm?/sec

[B’ 14\@- m2 }FE'EC

(C) 2843 cm?/sec

(D) 14 cm?/sec

(E) Not attempted

In3

thphaﬁt m 3 voltages have
wi rence
: - Fthﬂse Py ﬁt&uency but
(A) 30
(©) 90 (B) 60
(E) Not attemptedml 140

86. @2 faga =l & oo 3om §
i -ﬂ_hj” ufatis &1 e :1-;-1.-;:
q 8 sA-H18 7
(A) 1 A BT 0.5 5
(C) 5 HIH B 10 ':11:;.
(E) HuATad
g7 fam 2z1 o i Fasean 4 8
mﬂ@wamm.ﬁﬁwa -
gfem 31 duda o AR iR 2
W dem B
[CJ mﬁ ID? m
(E) mtad
88. WA o9 dfhe t: 3
gt 2 | -1 3%
(A) HHHIH
& (B) T2
E;ff%% <€) @t
© (p) wf ¢ fafsrean 78 2
(E) FrsEnTad
g9, U A s s 4 @At /A
G % wGA I W B

(A) 10\[5 ﬂﬂ:ﬂfﬂ
(B) 14V3 &’ /.
T 28J3 /A
(D) 14 Ffi?/8.
(E) e

S 3it A

(A) 30 (B) 60
00 ) 120

(E) Frwanfad
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ce is measured by

. bt
L P rg.al::-[._l
i,':'; al L & {H] Ohmmeter
IL||'['iflll E_{_:l.] Cul-rg—*l‘lt[‘['ﬁf‘:t{fr
getel
||:.1l

pted
L mj
Nl

-defined
.. have no well dehneal
willk ; i
o ; AL I‘i‘l-ﬂll"ltall'ib mterg \
L ) i
8 =-L1-u'ki.11gs {0 separate da
o 1s are called
; 571-ucmred data
U ;15m.li.‘turﬂd data
5 qui-stmctured data

~ Qreaniz ed data

Nor attempted

(e

Which safety device should be used

-
.

while driving a two-wheeler F
A) Helmet

B Seatbelt E}E_E

(C) Airbag ﬁxf’E
D) None of the above
Ej Not attempted

'!'jma instrurmnent of Haryana is in the
snape of cup containing 2 cymbals
and made up of brass
Ilf:.J ?-1:11‘1]11‘& [B) Taasha
. Dholak D S&rangj
(E) Nt atternpted !

95. The« urrent in

b 4N open circuit is
) normally very high because the

CG - AR23

91, feqtls a1 A Fhaeh g mmy gy »

(A) afeite AT} AT
(C) AleeHT (D) =refie
(E) SRITREA

92 g 2 fam ® =l AR B ufrurfus
mqﬁ%rﬁ[ﬁ;{%m#ﬁﬁ 1 AT Fid
¥ fau st 20 @ @l 1 Em
3 i FHaEl A B |
(A) & =T

(B) Frerfaa Set

(C) Hﬁ—HIﬁiT‘IE’ET

__@]ﬁ"'ﬁﬁa%ﬂ

(E)

g3, 3-ufkan AEA TR W A T
g S 3T HE e ?
AA) B
(B) Hrzewe
(C) TEET
(D) IR & & FE T
[E]STSImﬁTﬁ

(A) FT AB)
() G (D) =
(E) IryaTYd

’ﬁxr] mwﬁiﬂ@ma
(€) A
[D] Wﬁaﬂ'ﬂ:ﬁ%
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96.

97.

98.

100.

is defined as s :
S en OUL In

—

— , o
amount ol luminous Aux g1
onec u

g an intensity
‘ ctions.

. nit solid
a space represented by

angle by a source havin |
of one candle power in all dir€
(A) Lumen

(B) Luminous intensity

(C) Light

(D) Candela

(E) Not attempted

In a dynamometer wattmeter, the
fixed coil is

(A} Current coil

(B) Potential coil

(C) Voltage coil

(D] Resistance coil

(E) Not attempted

The layout of this wiring is done under
the plaster of the wall of the building
(A) Conduit wiring

(B) Cleat wiring

(C) Casing-capping

(D) Concealed wiring @‘E.E

(E) Not attempted ﬁ:flil

The probability of happening of an
event A is 0.5 and that of B is 0.3.
If A and B are mutually exclusive
events, then the probability of
happening neither A nor B is

(A) 0.4 (B) 0.5

(C) 0.2 (D) 0.9

(E) Not attempted

1 yard is equivalent of feet.
(A) 1 (B) 2

) 3 (D) 4

(E) Not attempted

2. -l .

LI ALl b e B ]
3z wfE & AEA T A g s
THTE ATH &0 gWT g9 U werE | fer m
foan weed & 9E & F9 8 afonfys
feran T 2

(A) =
-m) gfoam g2fafe
(C) =I18e

(D] H=Zen

(E) rvanfya

97. SEAERhE SiTfic # R Fusch wdt R

(A) faga Fe=
(B) §WIfd $3
~C) e Fed
(D) Sy F3
(E) raafea

98, 34 arfor #1 A3k fafeen i Haw &

e & A= faan o R
(A) Hee anafm

(B) Fefle arafon

(C) whfam-afm

4D) wHies aafo

(E) vaféa

99, THUTATAS e h Wwa1 0.5 %

s BH 0.32 ) 3R A 3 B IR

FATE E, A TANATABEANH
ufireean 2
(A) 0.4 (B) 0.5
~{C) 0.2 (D) 0.9
(E)

100. 1 fre & ot R |

(A) 1 (B) 2

L) 3 (D) 4
(E) Frwafed
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